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Two teams play against each
other.

1-3 persons form a team.
Every team plays with 6 balls.
Team A plays with white balls
and Team B plays with yellow
balls.

1%! round

Both teams play by turns all balls in the playing field
until all 12 balls are played. It is allowed to touch the
bar marks and other balls. The team with the most
balls in the same target field wins the appropriate
score.

Points rule

First, the number of balls will be counted and
afterwards the score.

Four balls on a “1” field is better than three balls
on a “2” field

A ball on the joker field can be counted as any
number field.
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Only the winner team can
record the score on the
scoreboard after a played
round.

Team A scores four points.

The team, which played the
last ball, starts in the

Instructions

Team B plays the
first yellow ball

Team A plays the
first white ball
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2" round

If both teams play the same number of balls in the
target fields, the team with the higher score wins
this round.

Three balls on a “3” field is better than three
balls on a “2” field

Independent of the number of balls on the joker
field.

Joker and number field points are equal

Balls in the fields of the other team do not count.

Team B has nine points
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Points will be counted if a
round ends with the same

following round.

Satz Team Satz p
score of both teams.
"6 T8 10 12 14" 16" 18 | | Al (_)'2]4'6'8'10'12'14'16'155 | |
$ B ; ‘ N ——— : - ; If a team plays with a ball of
| I l | the rival or a ball is played
l . 1 el ) ) out of the field, the round will
, 6,8 ,10 12 14 16 18 | | B| O o0, 12 14 16 18 | | get interrupted and the rival

Team B starts in the second
round.

Win of the first part of the game

The team, which scores at first 18 points or
more, wins the first part of the game.

The winner of the first part starts in the
next part.

A Cross-Golf play lasts two winning parts.

gets 6 points.
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